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BENGALI
(Honours)

Paper Code : III - A & B

(New Syllabus)

Full Marks : 100 Time : Four Hours

Paper Code : III - A

(Marks : 20)

Choose the correct answer.

Each question carries 1 Mark.

1. ò„,þ¡Œ„þyöìhsþîû vþz£zœó vþzþ™˜Äyöì¢ îÊáþy˜öì̈ îû þ™”î# £œ —

(A) ¢îû„þyîû

(B) ö‡y¡ì

(C) ›uþœ

(D) ö‰þï•%îû#

2. ò„,þ¡Œ„þyöìhsþîû vþz£zœó vþzþ™˜Äyöì¢îû ²Ì„þyŸ „þyœ —

(A) 1877

(B) 1878

(C) 1879

(D) 1880

3. òòîûy!e!”˜ ”yîû&˜ “,þ¡Œyëû £*”ëû þ™%!vþüöì“þöìŠéÐóó — vþz!_«!Ýþ „þyîûÚ

(A) ¼›îû

(B) ö†y!î¨œyœ

(C) öîûy!£˜#

(D) „,þ¡Œ„þyhsþ

4. òöŸöì¡ìîû „þ!î“þyó vþzþ™˜Äy¢!Ýþ öë þ™!e„þyëû ²Ìí› ²Ì„þy!Ÿ“þ £ëû —

(A) îD”ŸÅ̃

(B) ²Ìîy¢#

(C) ¢y•˜y

(D) ¦þyîû“þ#
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5. òöŸöì¡ìîû „þ!î“þyó vþzþ™˜Äy¢!Ýþ „þëû!Ýþ x•Äyöìëû !î˜Ähßþé —

(A) ö‰þyj

(B) þ™öì̃ îû

(C) ö¡ìyœ

(D) ¢öì“þîû

6. òòö›öìëûöì”îû ö„þïöìÝþy xy!šþ‚éôé~ ¦þîûy– ²Ì„,þ!“þ Ÿëû“þy˜# “þyîû öëy†y˜ ö”ëûÐóó — vþz!_«!Ýþ „þöìîûöìŠé˜ —

(A) œyî’Ä

(B) !¢!¢

(C) x!›“þ

(D) öŸy¦þ˜œyœ

7. ò„þ!îó vþzþ™˜Äyöì¢îû ¦)þ!›„þy îû‰þ˜y „þöìîû̃ —

(A) ö›y!£“þœyœ ›‹%›”yîû

(B) œ#œy ›‹%›”yîû

(C) ›y!˜„þ îöì̈ Äyþ™y•Äyëû

(D) !î¦)þ!“þ¦)þ¡ì’ îöì¨Äyþ™y•Äyëû

8. ò¦þÄyœyöìîû îyþ™ „þ!þ™îîûæó — vþz!_«!Ýþ „þyîûÚ

(A) îûy‹˜

(B) !˜“þy£z

(C) î¢hsþ

(D) !î²Ìþ™”

9. ö„þy˜ vþy_«yîû ”!Çþ’y‰þîûöì’îû ßþf#îû !‰þ!„þê¢y „þöìîû̃ Ú

(A) !î›œ vþy_«yîû

(B) £yîûy’ vþy_«yîû

(C) ›§Ãí vþy_«yîû

(D) £öìîû̃  vþy_«yîû

10. òî”˜y›ó †öìÒ vþz!ÍÔ!…“þ þ™%!œŸ x!šþ¢yöìîûîû ˜y› —

(A) !î‹ëû

(B) •˜Oëû

(C) ¢Oëû

(D) ¢%‹ëû
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11. òò˜,Ÿ‚¢ !ŸÖ £“þÄy„þyîû#îû ²Ì!“þ „þy£yöìîûy ¢£y %̃¦)þ!“þ ££zœ ˜yÐóó — ö„þy ä̃ †öìÒîû x‚ŸÚ

(A) “þy‹›£œ

(B) î%•˜#

(C) ö›‡›ÍÔyîû

(D) !„þ§¬îû”œ

12. £#îûyœyœ ö„þy˜ †öìÒîû ‰þ!îûeÚ

(A) „þÄy˜¦þy¢yîû

(B) „þyœyhsþ„þ œyœ!šþ“þy

(C) ¢¤yGþ ¢„þyöìœîû ›y

(D) hßþ˜”y!ëû˜#

13. ò„þyœyhsþ„þ œyœ!šþ“þyó †öìÒ vþz!ÍÔ!…“þ xþ™!îûöìŸy!•“þ !îœ!Ýþöì“þ ö„þy˜ ¢yöìœîû vþzöìÍÔ… !ŠéœÚ

(A) 1577

(B) 1677

(C) 1777

(D) 1877

14. òö”î“þyîû ‹§Ãó †Ò!Ýþ „þyîû öœ…yÚ

(A) ›£yöìÙ»“þy ö”î#

(B) îûî#w˜yí àþy„%þîû

(C) !î¦)þ!“þ¦)þ¡ì’ îöì¨Äyþ™y•Äyëû

(D) !Ÿîîûy› ‰þe«î“þ#Å

15. òö›‡ ›ÍÔyîûó †öìÒ öë ö”î#îû vþzöìÍÔ… xyöìŠé —

(A) ¢îûßþº“þ#

(B) ”%†Åy

(C) !Ÿî

(D) ‰þuþ#

16. òhßþ˜”y!ëû̃ #ó †öìÒ ˜y!ëû„þy ëöìŸy”yîû !„þ öîûy† £öìëû!ŠéœÚ

(A) ëÇþy

(B) „þöìœîûy

(C) î¢hsþ

(D) „þÄyªyîû
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17. ò!„þ§¬îû”œó †öìÒîû ˜yëû„þ —

(A) vþz›yþ™!“þ

(B) ×#þ™!“þ

(C) •˜þ™!“þ

(D) ¦)þþ™!“þ

18. ²Ìíöì› òöŸöì¡ìîû „þ!î“þyó vþzþ™˜Äy¢!Ýþîû ˜y› !Šéœ —

(A) œyî’Ä

(B) x!›“þ

(C) öŸ¡ì öœ…y

(D) !›“þy

19. ò„þ!îó vþzþ™˜Äy¢!Ýþ ²Ìí› ²Ì„þy!Ÿ“þ £ëû —

(A) 1944

(B) 1945

(C) 1946

(D) 1947

20. ²Ì¢y”þ™%öìîû ö†y!î¨œyöìœîû xy¢öìîûîû †yëû„þ !Šéöìœ˜ —

(A) “þy˜öì¢˜

(B) ö›öì£îû …¤y

(C) ”yöì̃ Ÿ …¤y

(D) !î¢!›ÍÔy …¤y

————————
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Paper Code : III - B

(Marks : 80)

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

1Ð öë ö„þyöì̃ y ”%ó!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×2=18

S„þV ¢y›y!‹„þ vþzþ™˜Äy¢ îœöì“þ „þ# öîyöìGþyÚ ~£z ö×!’îû vþzþ™˜Äyöì¢îû œÇþ’=!œ vþzöìÍÔ… „þöìîûy ~î‚ ~„þ!Ýþ
îy‚œy ¢y›y!‹„þéôévþzþ™˜Äyöì¢îû xyöìœy‰þ˜y „þöìîû !î¡ìëû!Ýþ þ™!îûßþ³%þÝþ „þöìîûyÐ 4+5=9

S…V öîûy›yöìªîû ¢‚Kþy ç ÷î!ŸÜTÄ vþzöìÍÔ… „þöìîû îy‚œy öîûy›yª•›#Å vþzþ™˜Äy¢ ¢Á™öì„Åþ ¢‚!Çþ® xyöìœy‰þ˜y „þöìîûyÐ
2+3+4=9

S†V vþzþ™˜Äy¢ îœöì“þ „þ# öîyöìGþyÚ vþzþ™˜Äyöì¢îû ²Ì•y˜ ²Ì•y˜ ÷î!ŸÜTÄ=!œ vþzöìÍÔ… „þöìîûyÐ ”,ÜTyhsþ¢£ vþzþ™˜Äyöì¢îû
ö×!’ !î¦þy† „þöìîûyÐ 3+3+3=9

S‡V öŠéyÝþ†öìÒîû ¢‚Kþy ”yçÐ öŠéyÝþ†öìÒîû ÷î!ŸÜTÄ=!œ vþzöìÍÔ… „þöìîûyÐ vþzþ™˜Äy¢ ç öŠéyÝþ†öìÒîû ›öì•Ä ²Ì•y˜
²Ì•y˜ þ™yíÅ„þÄ=!œ ö”…yçÐ 3+3+3=9

2Ð ò„,þ¡Œ„þyöìhsþîû vþz£zœó ö„þîœ›ye ~„þ…y!˜ þ™y!îûîy!îû„þ îy †y£ÅßþiÄ vþzþ™˜Äy¢ ˜ëû– ˜îûéôé˜yîû#îû £*”ëûî,!_îû m¨µ
¢‚‡yöì“þîû „þîû&’ ÝþÆÄyöì‹!vþ — xyöìœy‰þ˜y „þöìîûyÐ 14

xíîy

ò„,þ¡Œ„þyöìhsþîû vþz£zœó vþzþ™˜Äy¢ xîœÁºöì̃  ö†y!î¨œyœ ‰þ!îûe!Ýþ !îöìÙÕ¡ì’ „þöìîû “þyöì„þ vþzþ™˜Äyöì¢îû ˜yëû„þ îœy
ëyëû !„þ˜y !î‰þyîû „þöìîûyÐ 14

3Ð ò„þ!îó vþzþ™˜Äy¢!Ýþöì„þ ¢yíÅ„þ xyMþé!œ„þ vþzþ™˜Äy¢ îœy ë%!_« ¢D“þ !„þ˜y xyöìœy‰þ˜y „þöìîû î%%!Gþöìëû ”yçÐ 14

xíîy

ò„þ!îó vþzþ™˜Äy¢!Ýþ „þ#¦þyöìî öŠéyÝþ†Ò öíöì„þ vþzþ™˜Äyöì¢ îû*þ™yhsþ!îû“þ £öìëûöìŠé xyöìœy‰þ˜y „þöìîûyÐ 14

4Ð òöŸöì¡ìîû „þ!î“þyó vþzþ™˜Äyöì¢îû þ™!îû’!“þ ëíyíÅ £öìëûöìŠé !„þ˜y xyöìœy‰þ˜y „þöìîû î%!Gþöìëû ”yçÐ 14

xíîy

òöŸöì¡ìîû „þ!î“þyó vþzþ™˜Äy¢ xîœÁºöì̃  œyî’Ä ‰þ!îûe!Ýþ !îöìÙÕ¡ì’ „þöìîûyÐ 14

5Ð öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 10×2=20

S„þV îûî#w˜yí àþy„%þöìîûîû òî”˜y›ó †Ò!Ýþîû ˜y›„þîûöì’îû ¢yíÅ„þ“þy þ²Ì!“þþ™§¬ „þöìîûyÐ
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S…V òö”î“þyîû ‹§Ãó †Ò!Ýþîû ö²ÌÇþyþ™Ýþ !˜!›Å“þ £öìëûöìŠé ›•Äë%†#ëû •›Åyõþ“þy ç „%þ¢‚ßþñyöìîûîû vþzþ™îû !¦þ!_ „þöìîû
— xyöìœy‰þ˜y „þöìîûyÐ

S†V òî%•˜#ó †öìÒîû ˜yëûöì„þîû xþ™îûyöì•îû þ™Øþyöì“þ xyöìŠé î%•˜#îû ²Ì!“þ “þyîû ²Ì†y‘þü ö²Ì›y¢!_« — xyöìœy‰þ˜y
„þöìîûyÐ

S‡V òö›‡›ÍÔyîûó †Ò!Ýþ öŠéyöìÝþy†Ò !£öì¢öìî !ŸÒéôé¢yíÅ„þ £öìëûöìŠé !„þ˜y xyöìœy‰þ˜y „þöìîû î%!Gþöìëû ”yçÐ

___________


